Math 232 Calculus 2 Spring 20 Final b

Solubions

Name:

e [ will count your best 10 of the following 12 questions.

® You may use a calculator without Computer Algebra System capabilities, and
a single US letter page of notes, but no phones or other assistance.

e You must show your work to receive credit for a question.
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(2) Sketch the region bounded by the curves y = z, and y = z3, and find the

area of this region. 1
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(3) Find / sin'(z) dz. = f ‘BI'MI ‘E\:M‘S?(.. d-x.
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(4) Find the volume of revolution obtained by rotating the triangle determined
by the points (0,0), (2,2) and (2,0) around the z-axis.
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(5) Sketch the parameterized curve given by z(t) = £t* and y(t) = $¢2. Use the
parameterization to find the arc length from ¢t =0to t = 1.

- - (2 360)
| V7
% m%W% f“ﬂ%%:%ﬁﬂ%'
- | ¥ | L u- k)
: J'dt+{ n \[&J£+;A£ .
0 v H:l‘t
) JL{ \llalk L ] 1, kg,
s [l gds [







8
(7) Find the degree three Taylor polynomial for In(1 + /z) centered at x = 1.
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(8) (a) What is a sequence?
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(b) What is a series?
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(¢) If a, — 0 as n — oo, does Zan converge? If so explain why. If not,

1
give an example.
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(9) Explain whether the following series converges or diverges, indicating clearly
which tests you use.
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(10) Explain whether the following series converges or diverges, indicating clearly
which tests you use.
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(11) Find the power series for e“’s, centered at z = 0. You may use the power series
for e* without justification. Use this to find a power series for f ¢ dz. Find

the radius of convergence for this power series.
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(12) Sketch the polar coordinate graph r = sin(#) + 3 and find the area bounded
by the curve.
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